6. Analysis the frame by cantilever method

assuming that all the columns have same area

of cross-section. 15
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7. What do you understand by different types of
supports ? Discuss different types of support
with the help of the diagrams and along with
reaction components. Discuss the equilibrium
and stability conditions for the analysis of space

structures. 15
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1. Determime the forces in the member of truss
shown m fig. 15
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2. Determine the support moments in the
continuous beam shown i fig. 15
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3. A continuous beam ABCD consists of three

A

spans and is loaded as shown in fig. Ends A
and D are fixed. Using the slope deflection
method and determine the bending moment at
the supports and plot the bending moment

diagram. 15
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A horizontal beam ABCD is carried on hinged
supported and 1s continuous over three equal
spans of 3 m. All the supports are initially at
the same level. The beam 1s loaded as shown
in fig. Plot the bending moment diagram and
sketch the deflected shape of the beam if the
support A settles by 20 mm, B settles by 10
mm and C settles by 10 mm. The moment of
inertia of the whole beam is 2.4 x 106 mm?*
and E = 2 x 10° N/mm?. 15

8kN 12kN
B _3kN/m
ANAAAAA !

N D
3m >A: 1m >J1' 2m ’

Draw the bending moment diagram and sketch

the deflected shape of the frame. 15
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8. A three-span continuous beam ABCD is loaded 8. A three-span continuous beam ABCD is loaded

with ultimate loads as shown in fig. Determine with ultimate loads as shown in fig. Determine
the required plastic moment of resistance when the required plastic moment of resistance when
the beam 1s of uniform section. 15 the beam 1s of uniform section. 15
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